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Solving Two-Step Equations

Solve: Solve:
(@) 2x+3=15 (b) 3x—7=11 (@) 2x+3=15 (b) 3x—7 =11
(c) 74+ 5x=27 (d) 4x+1.5=45 (c) 74+ 5x=27 (d) 4x+1.5=45
(e) 3x+10=1 (f) 5=2x—-9 (e) 3x+10=1 (f) 5=2x—-9
(90 7x+7=0 (h) 4x—1=6 (9 7x+7=0 (h) 4x—1=6
() 5+42x=8 () 6x—05=25 () 5+42x=8 () 6x—05=25
Solve: Solve:
@)§+1=5 w)§—2=13 @)§+1=5 m)§—2=13
@)6+§=18 m)§+24=36 @)6+§=18 m)§+24=36
X X X X
(e) ;+9=3 (f;=1=0 (e) +9=3 () 5—1=0
_x_ X _ e — _x_ X _ e _
(9) 6="= (h) 5—=5=15 (9 6=--8 (h) ;-5=15
(025+§=3 0)2+§=—1 (025+§=3 0)2+§=—1
Solve: Solve:
x+3 _ X2 _ x+3 _ x=2 _
(@) —==5 () —=1 (@ —==5 () —=1
x+1 x—5 x+1 x—5
(€) 4 == (d) 70— =—2 (€) 4 == (d) 7= =—2
x+2 x+0.5 x+2 x+0.5
(e) T =1.5 (f) i 3 (e) T =15 (f) PR 3
x—10 x+9 x—10 x+9
(9)7—T (h)T_Z (9)7—T (h)T_Z
N 25 = X2 e 25 = X2
(i) T_O'S G) —2.5= . O] 3 =0.5 G) —2.5= .
Solve: Solve:
(mé?zoz (b) 2.5x — 1 = 14 (mﬁ?zoz (b) 25x —1 = 14
(c)§—6=—0.6 (d)3 =2x+3 (c)§—6=—o.6 (d)3 =2x+3
(&)5+>=-1 ()-20="2 (&)5+3=-1 ()-20="2
_ X _o_1 A= X _5_1
(@3x—4=1 (;-2=7 (@3x—4=1 (;-2=7
(i)8+§=o (G)5 =9 — 2x (i)8+§=0 (G)5 =9 — 2x




